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What do we get for the 6th stool
guaiac?
(6H M guaiac & Al)
Neuhauser & Lewicki
New England Journal of Medicine 1975

Guaiac 2 A}
- &S HEIS st &E A
° té"g 1 A|.=6“Eol-u
o L8 91.7% Q2 5T, 63.5% S0|&

(1975 data)
HE: 3 c2L=%4 =I113< =91
0 6t E%‘=$4+$1+$1+$1+$1.=$9

6B A2 HI%SB/
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HIAE (in 1975)
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Barium Enema ( $100 22 )

(SgN =2 HIE2 HEBBAE oH0I0F BtLH )
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o DIOH] 2HAI=] EQ9

o DO ] 2HAl=2 S Q9

o DHOE | AN =6 2

BAC = 2ET10Y HIE
13| A

#2AIB2| oA |# BXEA| HEg | $/Y
] 91.6667% | 659469 |$77.511] $1175
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23| ZAIAl XS
& JHincremental) HI €

208 =0t
ANS S| pAT lBuA | U8 | =8 | wABX | HS8/
A
(of 72)
i 91.6667% 65.9469 $77.,511 -- -- $1.175
2 99.3056% 71.4424 |$107,690 | $30,179 5.4954 $5,492
ZEJHIncremental) HIE : 6H K Z Al
B X 28 |EHHE
MBS RS | (of72) | HIS | IS | BXgA | /g
1| 91.6667% | 659469 | $77.511 - - $1,175
2 | 99.3056% | 71.4424 | $107,690 | $30,179 | 5.4956 | $5,492
3
4
5
¢ = 2?22
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EXgA =8 | EJHHIE/Y
HAE S| AT % Hg FIHHIE (8t AHS
(of 72)
1 91.6667% | 65.9469 | $77.511 - - $1,175
2 99.3056% | 71.4424 | $107,690 | $30,179 5.4956 $5,492
3 99.9421% | 71.9004 | $130,199 | $22,509 0.458 $49,150
4 99.9952% | 71.9385 | $148,116 | $17.917 0.0382 $469,534
S 99.9996% | 71.9417 | $163141 $15,024 0.0032 $1,724,695
é 99.9999% | 71.9420 | $176,331 | $13,190 0.0003 | $47,107,21
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HlE &1td| ( C/E ratio )

« Cost-effectiveness ratio -- S& (&l1J|=)
A=t HlR (RIs) Al bl .

C/E
st \ =3}
BtokJ N Bkt Dt 5Hs Al 0l
o= Al ol3 A1 XIS 2
A8 1ot
ALgi
FILRE
0 Y8 FIH0I 74P
QALY )
r S Intervention
" { c>Nextbest
(0]
. Current
© Care
t” g EB,’HI | Dt?minated
= AC/AE © do nothing alternative |
(HEEHD) — —> S
AC

et HlwOolCh 240l CHst
HlwQIDt? {0 Mt 2= r”E}’él!!!




CEA 219 Hluw

-- D. Eddy: “Mathematical Models for Screening” 1985 (Vol. 1, #30)
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- “3dl”Y HIZ (e.g., $/cancer found)
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« JEMEY H|lE ($/life saved )
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“Sd”g HIE
- QT MEY HIZ
o G M-8 O H|E ($/LY saved)
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HE d-Eg HIE

Nzd BdAHE =X
ANEHE 265 mg/dL 290 mg/dL 315mg/dL
35-39 $ 100,000 $ 75,300 $ 56,100
40-44 101,000 76,500 58,400
45-49 112,200 87,400 68,800
50-54 141,300 113,600 92.800
55-59 205,300 170,900 142,400
60-44 321,800 275,900 234,500
65-69 777,600 670,800 594,300
70-74 >1,000,000 >1,000,000 >1,000,000

After Oster & Epstein, JAMA 1987.
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HE MEL HIE

HE M.E G HIS

QALY Z HIE ($/QALY saved)
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1.0

quality
of
life
0
now death
additional years of life
QALYs = 240l B E

1.0 AN=0l 28t

/ 813l point
atold T

(quality
of

life)

now death
Bt HEY
(additional years of life)

A48 AFE, =2 &2 E(quality of life),
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QALYs

1.0 gained
quality QALYs
of lost
life
0
now death

additional years of life

MEOE =2 49 & : X QALYE 2 AL B S.
1.0
quality
of
life
0 |
now death

additional years of life

F22 32 43S, &2 2 Ndl...
QALY= ZHU B E.
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AlZHOll M2 HIS:

BIIHIIX 2 g2l 0AI2te)

) ) X2 0lE
Continuous time
0 - ——$10,000 + + + + + +
1T +— $0 _J
2 + —— $1000
3 ++—— $1000
4 + — $1000
S I $1000
6 -+ —— $3000
AlZ2H0l M2 82 &5
_ ) BT JIX 2AB: SS8
Continuous time A2t ez 22 Sxleict
0 -+ —$10,000 + + + + + + $2239
1 4+ — $0
QBIXOl BA!:
2 4+ —— $1000
5 PV = Amt/ (1+r)k
+ ——  $1000 weuss,
4 L —— $1000 e.g. 5% or 0.05
S T —— $1000
6 T —— $3000 —— PV =3000/(1+.05)6 ———
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A2 M E 83

Continuous time

0

1

—

==.
os.

BT JbXI ZLABCH: SS8t
A2 0’22 242t 2 QI

810000+ 4+ 4+ 4+ + $783+$2239
$0
UPEHOl B4 .
$1000
PV = Amt/ (1+r)k
$1000 “rJl 8 gg‘%,
$1000 e.g. 5% or 0.05
$1000 —— PV = 1000/(1+.05)5
$3000

A2t HE &3

Continuous time

0
1

2

—

SE:

B JHRI ZABCH :
A2t o2 22t §£l°|u

— $10,000 + + + + $823+ $783 +$2239
$0
1000 QBHTOl BA :
PV = Amt/ (1+r)k
$1000 w2 solg
$1000 e.g- 5% or0.05
$1000
$3000

—119-




&2
Iﬂ

AI?_POH IS

[Oh
o

Continuous time

BT JtX 2B :
Ma} 10’O§ 22 2 X

i A ]

SS8
oIC}

0 ——$10,000 + $0 + $907+ $864+ $823+ $783 +$2239
1 —_— $0
QBN A
2+ —— $1000
PV = Amt/ (1+1)k
3 —— $1000 ;
e gols,
4 —  $1000 e.g. 5% or 0.05
o —— $1000
6 —— $3000
AZHOl 2 82 &8
: BT DX ZASICH: SS8
, ) AlZH o2 242 gXloic}
Continuous time
0 T $10,000 |+ $0 + $907+ $864+ $823+ $783+ $2239
AN
1 + —4 $0 :
2 4+ 1 _
$1000 BIILX 2 EolHe
3 4+~ —}F $1000 15,616 O C
4+ —1 $1000
5 —L —+ $1000
51
6 4} gt Hl= $17,000
$309%:“:‘\“” 6‘.—j?J
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Continuous time

0 —_——

1T 4+ —1life year
2+ —ife year
3 4+ ——life year
~ 1 life year

S+ —1life year

6 T —1lifeyear ——— PV = 1/(1+.05)6

=

}
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HelE HEo 2T

|

—

0+ 095+ 091 + 086 + 082 + 0.78 + 0.75

PV = Amt / (1+r)k
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Continuous time

molo 22 #el B

— =

= Eof
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0 T 0

+ 095+ 0.91 + 0.86 + 0.82 + 0.78 + 0.75

AN

1 -+ —life year
2+ —NYiife year
3+ —mHiife year
4+ —Hiife year

S + —life year
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Continuous time

rlo

HelE HEd 2

0 +— 0+ 095+ 091 + 086+ 0.82 + 0.78 + 0.75
1+ —life year &l =5.07
2+ —life year
HEs A2 A
3 4 .
| life year PV = Amt/ (1+1)k
4+ — life year QIMO| M MAUAE Y o
OhAIS SOl EHEOD 2 82
5 + —iife year
6 T —tlifeyear ——— PV = 1/(1+.05)¢
2 0120 22 *elEESdl EH
Continuous time
0 T 1life year+ 0.95+ 0.91 + 0.86 + 0.82 + 0.78
1 + 1 life year 8t H=5.32
2 L 1 life year
BEFE A B4
3 -+ 1 life year PV = Amt/ (1+r)k
4 1 life year
Oldol My MEWEL-E 2 HY
5 L 1 life year O} X & 0 EHE0D 28R
6 -4 .
v
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Intervention
{adapted from #42, Chapman & Neumann 2000)

Compared to

Incremental $/QALY
{1998)

Warfarin in 65 yo with nonvalvular atrial fib and high risk
for stroke

aspirin

cost-saving

Eradicate H. pylori emprically using omeprazole, no treatment $1,300
clarithromycin, & amoxicillin in adults presenting to 1°

MD with dyspepsia

Fluoxetine tx in 30 yo women with one previous episode | imipramine tx $7,000
major depression

Warfarin in 65 yo with nonvalvular atrial fib and medium | aspirin $8,800
risk for stroke

breast conserving surgery in women with stage i & Il modified radical mastectomy $21,000
breast cancer

1-time doppler US screen in asymptom. 60 y men with ++ | no screening $38,000
risk factors for carotid stenosis

Annual doppler US screening in same 1-time screen dominated
Captopril therapy in 50 yo pts surving Mi no captopril $73,000
MR head scan in 35 yo women with single episode CT head scan $110,000
asymmetric neurol. sympt. suggesting neurological

disorder

add providers of basic and advanced life support in no change in 1-tier system $110,000
ambul for ted cardiac arrest runs

screening for carotid disease with endarterectomy if +, no screening $130,000

for 65 yo asymptomatic men

CIE SR8 e Atgh:
2 & (POINT OF VIEW)

o “ZH(Point of view)”

BHE O 22 SHEHOF GHEIN?
S 2HA =20 A HEolH g6t d YR S
SEHUSK T SUIE2A J1=9 0 AKX 2#CH

= =329| Y20l 0
=39 Hol0] SFEYSKS ZBICh
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points of view

o HIE
« NHIAE HE206t=HIE2
o EHXI2 HIZ (B AIZY = F
s “JIESEH" AMARAL HIZE

AE = A= DIHHIE

« “H5 Payer” (55 MaH 822
& Sellh)
o B0 TSt Bl (B& A
o MHIAE HISdl=HIE, 28 Mitg&0[L
medicare H 22 ZEXC = HIS
o 2 MAAIIE= A
o BAC HFRE HIE
« B AIZHHIE
o OISR K&
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o BRI BEE AL ZD

o X BIISHS CHE AFZIOI ZE B 212 2 Dol
Y8t EXO Bt (cg, & X1 care M B XSl X1
molg A0HT & & 2A=IH)

o EXHE

. moimgroy

- HHE2E 2 IHIE
XNEE floll ABlE= A2
g2 'JON CHEH =H:

—
=
(L

2 218 AIHIB

22 & QoLOIAHLE HIE2
Ch. 22% 2Kl (CI0 S 01010k St= X
Ch.

o =
=
T

9.F|

E=PN

>
&9

« S HSXe 2E
o MY
+ QALYsJ OtLI2}, BJtel #X
MZsts TR0 et 2R

b 20l “BE 2" care 2
EHEO
« LYHO R QALYs = PR

=2
ol EQSOICP
242 0(CH

o HIZ (note: LHE It B (price)0l OtLI 2 B2 XL
HI Z(cost)S MEE)
- 9T MHIAS AE HIE
o FIIHIZ
- LIS B =HIE
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2l BHA Ol Point of view...

1 810l 2 & UL

%
1
0

. BN OZ AIS|E POV 8 F St
Jl&9| MEIA JIX|E OlollE 4= UL

« “Local” POVsE 0|2 240 A
i 5t

- POV = E205tCH

HESUEA
(Cost-effectiveness) 0| & =~ &= A

- 0tLI HIEE AIE0610{0F ot=D1?
$50,000/QALY?

$100,000/QALY?
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“Flat of the curve medicine”
A->B,B->C =HIEZ A
C->D ?

QALYs c QALYs

$
saved B QALYS
s $/QALY poor,

v

“Indication Creep”

« S& X220 Uold= 230t AL, 2

SA20l= 2 X0 &2 2.

o 50AI Ol&t2] Oi 0l Cist FYXFAA
o P BEEXC Ui S2F SEHH=
o PEFE 0% ISUHEHXE EXNE A

2UHAMA=

-“flat of the curve” medicine...
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o
)
1>

2 0IZeH 4t

X ulE A

2R IS

o Bl gAY X Z= CHEC}(“A case found is a life
saved”)

29

+ “technology” : &2
v'look at portfolio of services
« JI&HI8 = 2 HIE
v'incremental $/QALY
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